


QUESTION- 1

Which of the following is not a synthetic
fibre?
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v Synthetic fibers are fibers made by humans with
chemical synthesis. / ﬁiﬁﬁﬁmm
HALHOT o AT WIS FRT ST 7Y WIS BN 2|

v ] oseph Swan invented the first artificial fiber in
the early 1880s. / TH® ¥ 7 1880 < IITeh <hl
VTG & et W WTgaR T St fm




QUESTION- 2

Plants with green and tender stems are called-

& 3R TAfereT Sust aret uter <Rt shet SATaT 2-
1. Herbs/ Flﬁaclff
2. Shrubs/ A=A
3. Trees/ 1?I's'
4.

All of the above/ SUTE AT b\




* Agar wood

@ Ajmoda v In general use, herbs are plants with
. Alwain savoury or aromatic properties that are
= arars used for flavouring and garnishing
.. B food, in medicine, or as fragrances.
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QUESTION- 3

Which of the following is true for Photosynthesis?

TehTYT GLuuT o foru fraferRaa & & = an oo 22

Leaves prepare thelr food in the presence of
mgrraT ht SufRerfe

sunlight/ H 9T

Qﬁﬁ'—rﬁuﬂaﬂ?ﬁ

The use water and carbon dioxide from the air/

FT 8 UTHT 3R HTel STZATHATSE Rl SUANT i &
Oxygen is ég_«:n out 1n this process/ wuﬁwmﬁ

All of the above/ WW




Photosynthesis is the process by which plants, some
bacteria, and some Protista use the energy from
sunlight to produce sugar, which cellular respiration
converts into ATP, the "fuel" used by all living things.
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%I‘QH'&&;W T SUFNT i &, ?ﬁﬁﬁlﬁ'{wqﬁﬁﬁ
uRafaa 2rar &, S weft Sfaa =i grr su=nT fear sy

AT """ BT 2




\

The conversion of unusable sunlight energy into usable
chemical energy is associated with the actions of the
ogreen pigment chlorophyll. The photosynthetic process
uses water and releases the oxygen that we absolutely
must have to stay alive.

TN AT AT TR FSll H SATTAN I kT UITHT o6
W%‘{@Taﬁmwﬁﬁﬁm%ﬁﬁmgw%l
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Sunlight

3 Glucose
Carbon dioxide = (su-%ar)
+ -
water Photosynthesis Oxygen

We can write the overall reaction of this
process as:

6H,0 + 6CO, ---------- >CH,,0+ 60,




QUESTION- 4

Cartilage is-

T 8-

As hard as bone/ @%Wﬁ‘w

As soft as an earlobe/ WW%WﬁW

Not hard as bone nor soft as an earlobe/ qT%”f%E\E”f%EW
" SR AT &l & & ®T H T/

None of the above/ 3TH ¥ &hIg it T&I \
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The following is/are the §r0perties of air-

FefeTRaa | &g o 7ot
1. Itis transparent/ IE UNEI &
2. It occupies space/ %W‘aﬁ%
3. It has no colour/ 39H hIg TTTEI &
4. All of the above/ IUTH ANt

@\




Air is a mixture of gases, water vapour, and other

substances, and it has specific properties or
characteristics.

T T, ST ST60, 3T 31T USTAT T {07 &, 3R 3aH
fyfre Tor o Ferseame 3

Air is invisible. / AT AT 2l

Air has weight. /EI'RT‘EI‘ TR B

Air takes up space. /WWW%I

Air has no odour or taste / Wﬁﬁﬁéwquﬁ%l




QUESTION-6

Cockroaches have  pairs of legs, which helps
in walking.

FFUA T W I BA &, T I H HEG
A B

Two/ a‘r
Three/ a9

Four/ X
Five/ U=t @\

Tk




A cockroach is similar to other insects in the way its body
is constructed. The body is divided into three parts—head,
thorax, and abdomen. Three pairs of legs are attached to
the thorax. Most cockroaches have three joints on each
leg, which means they have 18 knees.

Ueh faeT=rgt 21u= YRR o TRHT0T o aiieh W 31+ shigl o TH
AT 21 IR Y i faeat ® aier o B-RR, aitaw, ok
STHTITAN| oiterd § URY o A1 S WS B 81 erfareniyr fererg
# weres O i SR B B ¥, Rorarent aref ¥ fo 3k ur 18
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QUESTION-7

The rotting and conversion of some material into
manure is called-

qTE | D AT 6 TS AR FUTARUT 6T 6T AT &-

Composting/ @Tg

1.

2. Fertilization/ ICrer)

3. Both/gHi .
4. None of the above/ sqfr@raﬁ's‘ ot T8l

\ 1




Manure is organic matter, mostly derived
from animal faeces except in the case of
green manure, which can be used as organic
fertilizer in agriculture.

1T el ek a1l 8, AT SATETa) 3 ©@1e <k
TTHA T 9T T & Sqea Bt &, R e o
Sferen 3aiteh o wU T SUDRT foRAT ST WehalT 21




QUESTION-8

The whales and Dolphins breathe in air through-

52T 3R STt 34T H i I @8-
1. Nostrils/ ??ﬁ
2. Gills/ TTeT®ReST
3. Mouth/ 'fl;a' \
4. Fins/ 9= b




The whales and Dolphins are mammals and
breathe air into their lungs, just like human
beings. The whales and Dolphins cannot
breathe underwater like fish can as they do
not have gills.

%ﬁaﬁiaﬁmwaﬁ%aﬁ?mm‘raﬁm,
3T RS ¥ 9T | T Ad 8l seef 3R
ST Sl chl a¥E UTHT o Fi=r T T8l o
ma@ﬁﬁmwﬁ—aqﬁ%l




v' The whales and Dolphins breathe
through a nostril, called a
blowhole, located right on top of
their heads.

V' T 3T SITeW Uah 79 & HTeaH
U | & 2, R seireter et
STAT & ST 3+ch 9 ok 1Y WX Ferd
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QUESTION- 9

An electric cell has  terminals.

T TR A T efiAm T

One/ Uch
Two/ S

Three/ a9 R
Four/ X @

ERE -




v’ An electric cell provides electricity to various
devices that are not directly fed by the supply of
electricity. / Ueh SoTforeeh BcT TITH~T SUHTUTT hl
ToTeil TET YAt & St He fosTelt st ST fd Tat e
ST &

v’ An electric cell consists of two terminals. One is a
positive terminal and the other one is a negative
terminal. /Wgﬁﬁ;ﬁ@ﬁﬁﬁﬁﬁﬁ%l Uch
TR RTcHh AT 8 aﬁ'{a@vqm THRRIcHE ZHT 2l




QUESTION- 10

Magnets lose their properties if they are-

TAFThHeS T 0T T o & A1 F Bl o-

1. Heated/ T

2.  Shock/ gtZeht

3. Dropped from some height/ @W‘I‘s‘ﬁm
4.

All of the above/ SUTH Tt Q\




QUESTION- 11

About  of the earth is covered with water.
CITSHT gealt ST WRT STeT §f @ehT 51T 2

1/2
2/3

1/4
3/4 ﬁ\

ERl -




v’ The hydrosphere is the combined mass of water
found on, under, and above the surface of an earth.
Since 2/3 of the Earth is covered by water, the Earth
is also called the blue planet and the watery planet.

v TSR Uea shi €A o A, el 3 U aT= St
mﬁsa—ann%l <ifeR qesft T 3/4 T U & @ehT FOTT
T, S'H'FWQW%I'?EI% YT T ST e T T2 oY e

HATAT B




QUESTION- 12

was invented by Alfred Nobel.
HT HTIACHR STEHE Ao o TShaT Tl

X-ray/ TFA
Diesel Engine/ SINTeT 3919
Dynamite/ &g

©
Dynamo/ SPEE ]

ERE




AN NN

Dynamite was invented by Alfred Nobel of Sweden
in 1867.

1867 W TS ok TS AT gIRT STAATHATSE hl
ATTerseh R feRaT T ol

X-ray was invented by Wilhelm Roentgen of
Germany in 1895.

1895 W TTHAT ok Toree® T ST USA-Y hT TSR
feraT =T 2m




v’ Diesel Engine was invented by Rudolf Diesel of
Germany 1892.

v’ 1892 W T T hT AR STHAT o TS o STsTeT
ST TRt 1T @

v Dynamo was invented by Michael Faraday of
England in 1831.

v’ 1831 W AT o HIZheT TS ¥ STIHT hT ATIISRT
feraT em




QUESTION- 13

Radian is used to measure-

YT T SUHNT " & foru T strar 2-
1. Temperature/ ATIHA
2. The intensity of Flame/ It <Rl digan
3.  Angle/ ShIUT \
4. Solid Angle/ 3T 0T




v’ Kelvin is used to measuring Temperature. / ATUHTT
T AT ok foTU SR e Rt =T foRarT wimaT 2

v’ Candela is used to measuring Intensity of flame. /

he2 T, ST Shl AITAT hl HTUA oh ToTT TFRT TehaT SATaT
2

v’ Steradian is used to measure Solid Angle. / ©XEaT
ST ST ST ShIUT sl HTY ok 1T fehaT SAT4T 21
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QUESTION- 14

What is the Newton third law of motion?

=g o T o dre) e o 82

Everybody maintains its initial state rest or motion unless no
external force is applied/ WW@?WWWW‘@HT%W
q T RIS TUT TR Rurfy s o iy e war

The rate of change in momentum of a body is directly proportional
to the applied force on the body and takes place in the direction of

the force/ﬁgzﬁnﬁﬁwﬁaﬁ?zﬁaﬁgmmaﬁ%mﬁﬁ

HATHUTIerh BHaT § 3T e <hl fEom & gt 71
To every action, there is an equal and opposite reaction/ Tk TshaT
& foru s s Rradra afafrem At & R

None of the above/ Wﬁﬁaﬁéqﬁ




Newton's First Law of Motion
=g o T & Uget (Ha|

v Everybody maintains its initial state rest or motion

unless no external force is applied.

V' Tk fue 9 deh 70T R STraET Set W@ o
URTHT TTd <hl TTEAT H IEAT & A deh hig Tl
T SH hTY &1 SR




Newton Second Law of Motion
e o Tt o fgdta fam
v' The rate of change in momentum of a body is
directly proportional to the applied force on the

body and takes place in the direction of the force.
v’ g &t 7T § UiadH st aX fus I &) 9 & forg
€Y STATIeR BT & SR et sht foor 7 gt 21




QUESTION- 15

What is the range of mercury thermometer?

URT AHTHTET hT SHT T B2
1. 0°Celsius to 350°Celsius
2. -10° Celsius to 350° Celsius
3. -20° Celsius to 350° Celsius
4.

-30° Celsius to 350° Celsius Q\




4 Mercury thermometers cover a wide temperature
range from —30 to 350 °C the instrument’s upper-
temperature range may be extended through the

introduction of a gas such as nitrogen.

v\ U gHiHTER -30 ¥ 350 Tt fceaw a foeqa
ATTHT T THT hil hal hid &, SUSHTUT shi HU-ATITHT
AT ATZE IS ST 76 o ATeAw o FIETET ST FehdT 2|




QUESTIONS- 16

Stars appear to move from east to west because-

AN IS € YIS H TR 8id § Sifeh-
1. All-stays move from east to west/ T T'I'Ib{qc'\é‘ﬁ‘
Tt & TN Bl &
2. The earth rotates from west to east/ traa"rqﬁsm@r

US gHdt §
3. The earth rotates from east to west/ tr%ﬁ‘tlé‘ﬁ

4. None of these/ W | hIg A&l




v’ Earth’s rotation on its axis. Earth rotates toward
the east, and that’s why the Sun, Moon, planets,
and stars all rise in the east and make their way

westward across the sky.

v/ QoA 31U 3T UR YU el gl gl Ud hi T
aHt 98 | I 7 3T SATRTIT H UTH kT TR 37T
T O I &




QUESTION- 17

Which metal is heaviest?
I |7 ITg qaH T 52

Osmium/ HAHIH

Mercury/
Platinum/
Lithium/

ek

O




v Osmium is the heaviest metal.

v nEtiE ae AT 9T 2

v’ Platinum is the hardest metal.

V' wATeAw ge Hei 4T B

v' Lithium is the lightest and the most reductant

element.

v ferforaT ae gowT TR a9 Tuade dcd 2l




QUESTION- 18

Nail polish remoyer contains-

T UTTeA9T {HER § 91T &-

1. Benzene/ A

2. Acetic acid/ Qﬁl‘s'

3. Acetone/

4. Petroleum ether/ ﬁ@%ﬂﬁéﬂ'{




v’ Acetone can remove artificial nails made of acrylic. A less
harsh nail polish remover is ethyl acetate, which often also
contains isopropyl alcohol. Ethyl acetate is usually the

original solvent for nail polish itself.

v\ THISH UshicTeh § I W TGN i §eT Tehal gl Ueh hi
HBR ARG UTTeA9T AHER Tferer geiee grar &, s st
ATSEATIIATE Tehige HT BT gl SUTSH THICE THAR U IeT
GTersT o ToTg &t 7ot foretrares 21




QUESTION- 19

Which of the following gas is used in cigarette lighters?
ﬁnﬁzmﬁﬁw&%mﬁﬁﬁwﬁvwww

HATAT 22

Butane/ ST

Propane/

Methane/ ®T
Ethane/ 399 0\

Y 5




v Butane, a highly flammable, colourless, easily

liquefied gas used in lighters and butane torches.
v S, Ueh reafireh SaeHsitet, T, et A
AR T ¢ IRt STANT ATge 3R s Avmet




v’ Butane/ Elc\%?- CH,,
v Propane/ TTU- C.H,
v Methane/ HoA- CH,
v’ Ethane/ 399- C,H,




QUESTION- 20

Exchange of gases in plants usually takes place through
their-

Ut § AT hT SATETH-USTH STAAR U 37k ATEIH O giat

2

Stems/ a9 .

Leaves/ Tl
Roots/ S{g
Nodes/ 3

A= W




\

Gas Exchange in Plants.
Tt § {6 kT ATEE-USH
Plants obtain the gases they need through their leaves.
They require oxygen for respiration and carbon

dioxide for photosynthesis.

e 3T g ok ATeaH O STI9Aeh T okl UTH hid
T 37 THTIT HALHUT o TT0 e SSiTaTEe iR 99
& ToTU SiTeRAIST ht STIvIRar gidT B




Gas Exchange in Plants.
Tt § {6 kT ATEE-USH
The gases diffuse into the intercellular spaces of the
leaf through pores, which are normally on the

underside of the leaf - stomata.

T fost o "reaw | U ok 3t ferarenes s s |
el 8, ST SATH R T U= 3 18 oAl ST B & -

AL I FAL




QUESTION- 21

Doubts and disputes relating to the election of a
President or Vice Prg;ident shaa}‘l be decided by whom?
T et ferareh g fomam StraT 22

Election Commission/ AT 3TTEINT
Supreme Court/ 3©
Parliament/ H9<

Cabinet of India/ WA AT HEHISH t\

Eal




v’ Determination of doubts and disputes relating to the
election of a president or vice President is dealt with
in Art-71, such disputes shall be decided by the

Supreme Court whose jurisdiction shall be exclusive
and final.

v’ Tregufa an swrseuta o fatem & weifea deg o
WWWWH T o 21 ve feaet
fafrerT soaan =ETerE TR fRaT ST freehT
JTTRIRTIAT 3= BN TR ST Bt




v Barring the decision of such disputes, other matter
relating to the election of a president or vice president
may be regulated by law made by Parliament.

v’ o8 foael sl Siget, Wseutd a1 SWrseutd o Faea &
Gaitera fareat et fa-ame Jae [ grr s




QUESTION- 22

The two most important Harappan crops were-

TSUUT <hl T HEcaUUT ot ofT?

Wheat and Barley /ﬁ'il’ 3%;? .
Sesamum and Mustard S IrEere|
Rice and Peas / TdA HY

Cotton and Sugarcane / <hqTH AT

S

6\




QUESTION- 23

Who known as ‘Sikandar-i-Sani’?

Rreheet-u-am=’ &% A9 A R AT ATAT S ?

Alauddin Khalji/3TeTSE Raersit

AKkbar/3Thsl¥
Balban/dcidd

Jahangir/STgIX

S

1




v’ Alauddin Khalji (1296-1316) was the second and
most powerful ruler of the Khalji dynasty that
ruled the Delhi Sultanate in the Indian

subcontinent.

vV IAREA Raerstt (1296-1316) Raesit T=revr T
TERT SR W ITIRIITAT 9TTeeh AT forer At
SUWETET | e Geadd U sma- ferar om




v’ Alauddin wished to become the second Alexander
(Sikandar-i-Sani), and this title of his was
mentioned on coins and public prayers.

v e gaa ek (Rrenea-u-amt) ST amgar

T, 3T 3Tk 3 V(¥ ohl Seci &Rk 3R

QeI {-eh TTATST U= TehdT T 2
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QUESTION- 24

The Editor of ‘Young India’ and ‘Hari'gn’ was-
i T ST 3T FRAA* ok ATUTEeh 92

B. R. Ambedkar / ST 3T T=Igah
J. L. Nehru / 1. TS, 8& ,

Subhas Chandra Bose / T9THUE
Mahatma Gandhi / HTeHT e

@\




India hg a planned Ilcsllday #etween -

1.
i
3.
4.

1947 and 1951
1963 and 1966
1966 and 1969

1971 and 1974 b\




3T <hT T

TODAY’S

HISTORY




The Wildlife Protection Act.

v On 21st August 1972, the Wildlife Protection

Act was passed. This act was later

implemented on 9th September 1972.
v’ 21 ST 1972 Rt G-I e EQroT Stfarfaay

qTRE ToRIT AT ATl 39 ATAAR HI TEH 9

1972 A1 =

WAEEIREIR]



The Wildlife Protection Act.
v In 2002 an amendment in the Wildlife Protection Act of 1972

was made. This act is known as the Wildlife (Protection)

Amendment Act 2002. This amendment came into force in
January 2003 and under it, punishment for defaulters is

harsher.

v\ 2002 W 1972 % IS EIIUT AffraT W uek wone femar
oIT| 3 STTATHAH Rl TSI AT (FIIUT) WML AT 2002
Y H T ATAT g1 TE HIMUT FAGRT 2003 H T FAT AT 3T 3HH
aed, lethiced il a1 3R B



The Wildlife Protection Act.
v’ Asof April 2012, India has 102 national parks

and 166 more have been authorized. These

protected areas provide a safe and natural
environment for wild animals and birds to live

safely.
V' ST 2012 ek, TRA W 102 WSS I & 3T

166 AT 2TTereh SAferend g1 & BRFeAd & STt
TRt 3R ufert & e fem s a @A T
U TRIRrA 3R WTehftieh ITATSRUT I8 a2



Bismillah Khan
<o g fameaT @™

Dismillah 7588
I\han 7 R Born/ S¥H- 21 March 1916

Dumraon, Buxar District, Bihar/ AU,
e e, feer

Death/ Hcd- 21 August 2006

Varanasi, Uttar Pradesh/ IRTOTET, 3T

T3




Lslad
Dismillah
l\han

Bismillah Khan
G2 [GYLRCIE]

Original name/ HeT ATH- Qamaruddin

Khan/ HEEA @

Genres/ STeTdi- Indian classical music/
WA IS
Instruments/ $E¢HCH- Shehnai/ ITEATS




Lslad
Dismillah
l\han

Bismillah Khan
G2 [GYIRCIE]

Awards/ qTEh

v’ Tansen Award by Govt. of Madhya
Pradesh. / a9 ATHR SR AHEA
9

v Sangeet Natak Akademi Award/
HI(IT ATCeh JTRTGHT TTERT (1956)




Bismillah Khan
Uslad 5 Y %&qu

DBismillah

Awards/ qTEh

v Padma Shri/ TSIt (1961)

v' Padma Bhushan/ U 980T (1968)

v Padma Vibhushan/ W%MC'\Q'UT (1980)

v’ Tahar Mausique from Republic of Iran/
30 TTURTST O dTel "iideh (1992)

v’ Bharat Ratna/ VR 3 (2001)




Bismillah Khan
Uslad B %&qu

DBismillah

Awards/ qTEh

v’ Bismillah Khan was invited by the then Prime
Minister of India Pandit Jawaharlal Nehru to
play shehnai on the first Independence Day (15
August 1947) in Delhi's Red Fort.

v ARA o deehTel 9 TUTHHT Ufed SameieTe 186 =
faeett o T Tohet W Uge Taasiar fead (15 ST
1947) | ITEATS 1T o {0 foarfAeeT @ =t
JATHTA TR o




Bismillah Khan
Uslad B ﬁ&qu

DBismillah

Awards/ ITEhY
His 80th birthday was celebrated by World Music

Institute in New York.

ST 80 T TG ~gATeh H Tee TSIk SEICIC

ST HATAT AT AT

v’ India Post issued commemorative postage stamps
of ¥5.00 denomination on 21 August 2008.

v’ 3T3aT Uiee 7 21 3N 2008 T % 5.00 7T o TIRh

2T fehe I fohm
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